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g 19|*2 (Ho mag/L 0.001015t =HE 24 =dE kS gdE
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(11) [13|E AT A (NOy-N) mg/L 100158t 1.3 1.3 1.3 1.3 1.3
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15|22(24, 8) mg/L 10013} sd& 2 A& 2HE
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pH 74 | 71 | 7.2 | 7.0 | 7.0 | 7A
BOD 0.8 | 07| 09| 08| 0.8 ] 0.7
coD 26| 28| 27 25| 26 | 2.4
FREE 0.6 | 0.7 | 0.4 | 0.4 | 0.5 | 0.8
EEML 11.6 | 10.8 | 12.0 | 11.8 | 11.4 | 11.8
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EAM A 1.268|1.235]1.306 | 1.284 | 1.242| 1.274
ol BEHE
j.1.1-EB|BZ 20| & =4dE
HEZIZZ 2o =HE
ERZZZ0 M =2HE
HefF =45
A BlErA EZE
1.2C| 2220 Et =8E
ClE22 20| &t 24E
&I E4E
CHCL3 =84S
Clol| e & Tk o] E =HE
otE| 2 245
S5 1.547 | 1.454 | 1.505|1.694 | 1.622 | 1.462
Z¢l 0.009 | 0.010 | 0.009 | 0.011 | 0.009 | 0.006
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